Monday, February 22, 2021

Goals:

1. Understand Divide and Conquer Structure
2. Practice pre-design benchmarking

3. Figure out base case for closest points
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Input : Integer array A of length n 6’;\"\{ Ve, .
Output: Sorted array
// Base Case
1if n == 1 then Z %age, CQ5€<$>
2 ‘ return A:
3 end “— ?Y.CP(DC_ZS%\ \/Lg
// Divide and Conquer
4 A1 = MergeSort(A[l : n/2]); D\\/\&Q \Y\'PV\.’\‘ T C 0\\\
5 A9 = MergeSort(An/2+ 1 : n)); rZQ_C\A,V%\ \/Q/\%
// Combine
6p1 = p2 = 1

7 for 1=1 to n do

g8 | if Aj|p1] < As|po] then .

o Ali] = Alpi); C@ M0\ 0. / /\)DG\“‘P(‘OCQ$3WL§
10 | p1++;

11 | else

12| Ali] = Agpal;

13 Do+

14  end

15 end
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Ethics: [If yow could QUi ongdne ) whase WUl you ﬁ©7>
1. Brainstorm all stake-holders.

2. Who might benefit from this algorithm (applied to this domain)?
a. Passengers, airlines (reduced flight times), shareholders (more

flights=more profit), Uber/Lyft (car traffic version), environmental

benefit if shorter flights,
3. Who might be harmed by this algorithm (applied to this domain)?

a. Environmental impact (more flight), folks living near airports
(noise pollution),

4. Reinforce or counteract existing inequities?

a. School districting (reinforces educational inequities), lower the
cost of flying (make flying more accessible), bigger airlines ->
bigger

5. Any other ethical concerns?
6. Would you feel comfortable (from an ethical perspective)
implementing this algorithm in this context?
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